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1. Upunwhwjwinncenitup Ubpyuwjwgptp pwnwyniuhutph nwpptpnuejwlu
inbupny.

lx*—1=@x*-1D*+1)

2.4a° —1=2a—-1)_2a+1)

3.m® — 25 = (m® — 5)(m3 + 5)

4.16y% — 49x? = (4y — 7x)(4y + 7x)
5.9p* —16q° = (3p® — 4¢°) 3p* + 4q°)
6.36m? — 16n* = (6m — 4n)(16m + 4n)
7.a* —b?* = (a— b)(a+b)

8.y —x* =y —x)(y +x)

9.4x> —1=R2x—-1)(2x+1)

10.9m? — 9 = (3m — 3)(3m + 3)

11.16 — 9p* = (4 — 3p?)(4 + 9p?)
12.25—a® = (5 — a®)(5 + d¥)

13.m* —n? = (m? —n)(m* +n)

14.p° —49= * - 7N@*+7)

15.1 —x* = (1 -2 +x?)

16.a* — b* = (a® — b?)(a® + b?)

17.4a% — 1 = (2a — ) (2a + 1)

18.4a% — 9b* = (2a — 3b)(2a — 3b)
19.9x* — 4 = (3x2 — 2)(3x2 + 2)
20.x% — 16 = (x% — 4)(x% + 4)

2. C U D wnwntph thnfuwptl puwnpte wjuwyhuh Jhwunwdutp , np wknh
nLuGLUw hwywuwnnip)nLu.

(2a — C)(2a + b?)= 4a® — b*

C = b?
C+D)(x*—y) =x*—y?
C = x?

D=y



